
 

1 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

                                                                                                     
 
 
 
 

TNPSC GROUP I – TEST BATCH 2022 
TEST VIII – 6TH TO 12TH STD LIFE SCIENCE (BOTANY, ZOOLOGY) 

 
1. Match the following:  

Mineral    Deficiency Disease  
A. Calcium    1. Osteomalatia 
B. Phosphorus   2. Cretinism  
C. Iodine    3. Rickets  
D. Iron    4. Anaemia  
 A B C D 
a. 3 1 2 4  
b. 1 3 2 4 
c. 1 2 3 4  
d. 3 2 1 4 
e. Answer not known 
nghUj;Jf:  
 jhJ cg;Gfs;   Neha;fs;  
A. fhy;rpak;    1. M];bNahkNyrpah  
B. gh];gu];   2. fphpl;bdprk;  
C. mNahbd;   3. hpf;nfl;];  
D. ,Uk;Gr; rj;J   4. ,uj;j Nrhif  
 A B C D 
a. 3 1 2 4  
b. 1 3 2 4 
c. 1 2 3 4  
d. 3 2 1 4  
e. tpil njhpatpy;iy 
 

2. Match the following:  
Bacterial Diseases   Mode of transmission  
A. Cholera    1. Contaminated food or water  
B. Pneumonia  2. Contaminated water  
C. Typhoid    3. inhalation of airborne droplet from sneeze or cough. 
D. Tetanus    4. Contamination of wounds with the bacteria  
 A B C D 
a. 2 3 1 4  
b. 1 2 3 4 
c. 3 2 1 4  
d.  3 1 2 4 
e. Answer not known 
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nghUj;Jf: 
ghf;Bhpah Neha;fs;   guTk; Kiw  
A. fhyuh    1. mRj;jkhd czT my;yJ ePh;  

B. epNkhdpah   2. mRj;jkhd ePh;  
C. ilgha;L    3. ,Uky; kw;Wk; Jk;kypd; NghJ ntspg;gLk; fhw;W  

jptisfis Rthrpj;jy;  
D. nll;ld];   4. ghf;Bhpahf;fspdhy; jhf;fg;gl;l fhaq;fs;  
 A B C D 
a. 2 3 1 4  
b. 1 2 3 4 
c. 3 2 1 4  
d.  3 1 2 4 
e. tpil njhpatpy;iy 
 

3. Which of the following is to refract the light that enters the eyes? 
a. Sclera   b. conjunctiva  c. Cornea    
d. Iris    e. Answer not known 
gpd;tUtdtw;Ws; vJ fz;fSf;Fs; EioAk; xspia tpyfyilar; nra;fpwJ?  
a. ];fpspuh  b. fz;[q;bth  c. fhh;dpah   
d. Ihp];   e. tpil njhpatpy;iy 

 

4. Which of the following is a watery fluid that is present in the area between the lens and 
the cornea? 
a. Tear    b. Vitreous Humour   c. Aqueous Humour  
d. Extracellular fluid  e. Answer not known 
gpd;tUtdtw;Ws; vJ tpopntz;glyj;Jf;Fk; (cornea), nyd;Rf;Fk; ,ilNa epuk;gpAs;s 
ePh;k jputkhFk;? 
a. fz;zPh;   b. tpl;hpa]; jputk;    c. mf;Ft]; jputk;  
d. nry;ntspj; jputk;  e. tpil njhpatpy;iy 
 

5. Which is the only invertebrate that is capable of emotion, empathy cognitive function, 
self awareness, personality and even relationships with humans? 
a. Star fish    b. Octopus        c. Balanoglossus     
d. Dolphin   e. Answer not known 
czh;r;rp> jd;tpopg;Gzh;T> MSik> mwpthw;wy;> jdpj;jd;ik kw;Wk; kdpjh;fSldhd 
njhlh;G Nghd;w gz;Gfisf; nfhz;l xNu KJFehz; mw;w caphp vJ? 
a. el;rj;jpu kPd;  b. Mf;Nlhg];   c. gyNdhfpyh]];   
d. lhy;gpd;   e. tpil njhpatpy;iy 

 
6. What is the binominal name of State bird of Tamil Nadu? 

a. Chalcophaps Indica  b. Panthera tigris   c. Pavo cristatus   
d. Corvus splendens.  e. Answer not known 
jkpo;ehl;bd; khepyg; gwitapd; ,Unrhw;ngah; vd;d? 
a. rhy;Nfhghg;]; ,z;bfh  b. ghd;juh ilf;hp];  c. ghNth fphp];Nll];  
d. fhh;t]; ngyd;nld;];  e. tpil njhpatpy;iy 

 
7. Which is the largest salivary gland in human beings? 

a. Sublingual glands  b. Submaxillary glands   c. Parotid glands   
d. Tonsil       e. Answer not known 
kdpjh;fspy; fhzg;gLk; kpfg;nghpa ckpo;ePh;r; Rug;gp vJ?  
a. ehtbr; Rug;gp   b. jhilr; Rug;gp    c. Nkyz;zr; Rug;gp  
d. lhd;rpy;    e. tpil njhpatpy;iy 
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8. Who was known as the father of Gastric Physiology? 
a. Joseph Lister    b. John Hunter   c. William Beaumont   
d. Christian Bernard       e. Answer not known 
,iug;ig rhh; clw;nraypaypd; je;ij vd mwpag;gLgth; ahh;?  
a. N[hrg; yp];;lh;   b. [hd; `d;l;lh;   c. tpy;ypak; gpA+khz;l;  
d. fpwp];bad; ngh;dhh;l;   e. tpil njhpatpy;iy 

 
9. Match the following:  

A. World health day    1. 1st December  
B. World Malaria Day    2. 7th April  
C. World AIDS day     3. 25th April 
D. World Anti-Tuberculosis Day  4. 24th March  
 A B C D 
a. 2 4 1 3  
b. 2 3 1 4  
c. 3 2 1 4  
d. 1 2 3 4  
e. Answer not known  
nghUj;Jf:  
A. cyf Rfhjhu jpdk;    1. brk;gh; 1 
B. cyf kNyhpah jpdk;    2. Vg;uy; 7 
C. cyf va;l;]; jpdk;    3. Vg;uy; 25  
D. cyf fhrNeha; jpdk;    4. khh;r; 24 
 A B C D 
a. 2 4 1 3  
b. 2 3 1 4  
c. 3 2 1 4  
d. 1 2 3 4  
e. tpil njhpatpy;iy 

 
10. Match the following:  

Disease    Causative organism  
A. Common cold   1. Myxovirus  
B. Influenza    2. Rhino virus  
C. Tuberculosis   3. Rubeola virus  
D. Measles    4. Mycobacterium   
 A B C D 
a. 2 1 4 3  
b. 1 2 4 3  
c. 3 1 4 2  
d. 1 3 4 2  
e. Answer not known 
nghUj;Jf: 
Neha;     Neha;f; fhuzp 
A. rhjhuz rsp  1. ikf;N]h itu];  
B. ,d;/G@ad;rh   2. iuNdh itu];  
C. fhrNeha;   3. &gpNahyh itu];  
D. jl;lk;ik   4. ikNfhghf;Bhpak;   
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 A B C D 
a. 2 1 4 3  
b. 1 2 4 3  
c. 3 1 4 2  
d. 1 3 4 2  
e. tpil njhpatpy;iy 

 
11. Match the following:  

Disease     Causative organism  
A. Mumps     1. Bordetalla pertusis  
B. Chicken pox    2. Varicella Zoster  
C. Diptheria     3. Myxovirus  
D. Whooping cough   4. Cornyebacterium   
 A B C D 
a. 3 2 4 1  
b. 2 3 4 1  
c. 1 3 4 2  
d. 3 1 4 2 
e. Answer not known 
nghUj;Jf:  
Neha;      Neha;f;fhuzp  
A. nghd;Df;F tPq;fp   1. Nghh;nlnly;yh ngh;Lrp]; 
B. rpd;dk;ik    2. thhpnry;yh N]h];lh;  
C. b/g;jPhpah    3. ikf;Nrhitu];  
D. ff;Fthd; ,Uky;  4. fhh;dpghf;Bhpak;   
 A B C D 
a. 3 2 4 1  
b. 2 3 4 1  
c. 1 3 4 2  
d. 3 1 4 2 
e. tpil njhpatpy;iy 

 
12. Chikungunya is caused by  

a. Single stranded RNA virus  b. Double stranded RNA virus  
c. Single strand DNA virus  d. Double strand DNA virus  
e. Answer not known 
rpf;Fd;Fdpah vd;w NehahdJ ________ My; Vw;gLj;jg;gLfpwJ. 
a. xw;iw ,io RNA itu];  b. ,ul;il ,io RNA itu];  
c. xw;iw ,io DNA itu]; d. ,ul;il ,io DNA itu];  
e. tpil njhpatpy;iy 

 
13. Which of the following is known as break bone fever?  

a. Bird flu    b. Swine flu    c. Chikungunya    
d. Dengue    e. Answer not known 
gpd;tUtdtw;Ws; vJ "vYk;G Kwpg;G" fha;r;ry; vd;W miof;fg;gLfpwJ? 
a. gwitf;fha;r;ry;  b. gd;wpf;fha;r;ry;   c. rpf;fd;Fdpah    
d. nlq;F    e. tpil njhpatpy;iy 
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14. Match the following:  
Disease    Causative organism  
A. Swine flu   1. Human Papilloma virus  
B. Avian flu   2. Herpes simplex virus  
C. Genital warts   3. Influenza virus H1N1 
D. Genital Herpes   4. Influenza virus H5N1 

 A B C D 
a. 3 4 1 2  
b. 4 3 1 2  
c. 3 1 4 2  
d. 4 1 3 2 
e. Answer not known  
nghUj;Jf:  
Neha;     Neha;f;fhuzp  
A. gd;wpf;fha;r;ry;   1. kdpj ghg;gpNyhkh itu];  

B. gwitf;fha;r;ry;  2. n`h;gp]; rpk;g;nsf;]; itu];  
C. gpwg;GWg;gpy; nfhg;Gsk; 3. ,d;GSad;rh itu]; H1N1. 
D. gpwg;GWg;gpy; n`h;gp]; 4. ,d;GSad;rh itu]; H5N1  
 A B C D 
a. 3 4 1 2  
b. 4 3 1 2  
c. 3 1 4 2  
d. 4 1 3 2  
e. tpil njhpatpy;iy 

 
15. Match the following:  

 Diseases     Microorganism  
A. Amoebic dysentery    1. Plasmodium  
B. Malaria      2. Entamoeba histolytica  
C. Anthrax     3. Apthovirus  
D. Foot and mouth disease   4. Bacillus   
 A B C D 
a. 2 1 4 3  
b. 1 2 4 3 
c. 3 2 4 1  
d. 2 3 4 1 
e. Answer not known 
nghUj;Jf: 
Neha;fs;     Ez;Eaphpfs;  
A. mkPgpf; rPjNgjp    1. gpsh];Nkhbak;  
B. kNyhpah      2. vz;lkPgh `p];lhiybfh 
C. Me;j;uhf;];    3. Mg;Njhitu];  
D. tha; kw;Wk; fhy;f; Fsk;G Neha;  4. Ngrpy;y];   
 A B C D 
a. 2 1 4 3  
b. 1 2 4 3 
c. 3 2 4 1  
d. 2 3 4 1  
e. tpil njhpatpy;iy 
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16. When was HIV first recognized in the world?  
a. 1975  b. 1978    c. 1981   
d. 1984   e. Answer not known 
cyfj;jpy; Kjd; Kjypy; HIV vg;NghJ fz;Lzug;gl;lJ?  
a. 1975  b. 1978    c. 1981    
d. 1984   e. tpil njhpatpy;iy 

 
17. Who coined the term vaccine? 

a. Edward Jenner   b. Louis pasteur    c. Jonas salk    
d. Dr. Donald   e. Answer not known 
"Ntf;rpd; (Vaccine)" vd;w nrhy;iy Kd;nkhope;jth; ahh;?  
a. vl;th;L n[d;dh;  b. Y}ap]; gha;];lh;   c. N[hd;]; rhy;f;   
d. Dr. nlhdhy;L  e. tpil njhpatpy;iy 

 
18. Which of the following produces antibodies during bacterial and viral infections?  

a. Monocytes   b. Lymphocytes    c. Eosinophils   
d. Basophils    e. Answer not known 
gpd;tUtdtw;Ws; vJ itu]; kw;Wk; ghf;Bhpah Neha;j; njhw;Wjypd; NghJ 
vjph;g;nghUis cUthf;Ffpd;wd?  
a. NkhNdhirl;Lfs;  b. ypk;/Nghirl;Lfs;   c. <rpNdh/gpy;fs;    
d. NgNrh/gpy;fs;   e. tpil njhpatpy;iy 
 

19. Match the following:  
WBC     Percentage  
A. Neutrophils   1. 60 – 65%  
B. Eosinophils   2. 2 – 3%  
C. Basophils    3. 0.5 – 1.0% 
D. Lymphocytes   4. 20 – 25% 
E. Monocytes   5. 5 – 6%  
 A B C D E 
a. 1 3 2 4 5  
b. 1 5 2 4 3 
c. 1 2 3 4 5  
d. 1 2 5 4 3  
e. Answer not known 
nghUj;Jf:  
WBC     rjtPjk;  
A. epA+l;Nuh/gpy;fs;  1. 60 – 65% 
B. <rpNdh/gpy;fs;   2. 2 – 3% 
C. NgNrh/gpy;fs;   3. 0.5 – 1.0% 
D. ypk;/Nghirl;fs;  4. 20 – 25% 
E. NkhNdhirl;fs;  5. 5 – 6%  
 A B C D E 
a. 1 3 2 4 5  
b. 1 5 2 4 3 
c. 1 2 3 4 5  
d. 1 2 5 4 3  
e. tpil njhpatpy;iy 
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20. Which of the following number increases during conditions of allergy and parasitic 
infections?  
a. Neutrophils   b. Basophils    c. Eosinophils    
d. Monocytes   e. Answer not known 
gpd;tUtdtw;Ws; vjDila vz;zpf;if xl;Lz;zpj; njhw;W kw;Wk; xt;thik Vw;gLk; 
NghJ mjpfhpf;fpwJ?  
a. epA+l;Nuh/gpy;fs;   b. NgNrh/gpy;fs;   c. <rpNdh/gpy;fs;   
d. NkhNdhirl;Lfs;  e. tpil njhpatpy;iy 

 
21. Increase in the number of leukocytes is called as __________.  

a. Leucocytosis   b. Leukopenia   c. Leukopoiesis    
d. Leukoplakia   e. Answer not known 
,uj;j nts;is mZf;fspd; vz;zpf;if mjpfhpj;jy; ________ vd;W miof;fg;gLfpwJ.  
a. ypA+f;Nfhirl;Nlhrp]; b. ypA+f;NfhgPdpah   c. ypA+f;NfhNgha;rp];   
d. ypA+f;Nfhgpshf;fpah  e. tpil njhpatpy;iy   

 
22. The right atrium receives deoxygenated blood from different part of the body through 

the main veins ________  
a. Superior vena cava  b. Inferior vena cava c. Coronary sinus    
d. All of these    e. Answer not known 
clypd; gy;NtW ghfq;fspypUe;Jk; Mf;rp[d; Fiwe;j ,uj;jj;jpid Kf;fpa rpiufshd 
________ %yk; tyJ Mhpf;fps; ngWfpwJ.  
a. Nkw;ngUQ;rpiu   b. fPo; ngUQ;rpiu  c. fNuhdhp ird];   
d. ,it midj;Jk;   e. tpil njhpatpy;iy 

 
23. Which of the following valve is located between the right auricle and right ventricle?  

a. Tricuspid valve    b. Bicuspid valve   c. Semilunar value    
d. Mitral valve    e. Answer not known 
gpd;tUk; thy;TfSs; vJ tyJ Mhpf;fps; kw;Wk; tyJ ntz;l;hpf;fps;fSf;F ,ilapapy; 
mike;Js;sJ?  
a. %tpjo; thy;T    b. <hpjo; thy;T   c. miur;re;jpu thy;T   
d. kpl;uy; thy;T    e. tpil njhpatpy;iy 
 

24. Give an example of Exocrine glands. 
a. Salivary glands    b. Mammary glands   c. Sweat glands   
d. All of these    e. Answer not known 
ehsKs;s Rug;gpfSf;F vj;Jf;fhl;L jUf? 
a. ckpo;ePh; Rug;gpfs;   b. ghy; Rug;gpfs;    c. tpah;it Rug;gpfs;  
d. ,it midj;Jk;   e. tpil njhpatpy;iy 

 
25. What is the shape of pituitary gland?  

a. Pear shape   b. Bean shape   c. pea shape     
d. Triangle shape   e. Answer not known 
gpl;A+l;lhp Rug;gpapd; tbtk; vd;d?  
a. Nghpf;fha; tbtk;  b. mtiutpij tbtk;  c. gl;lhzp tbtk;    
d. Kf;Nfhz tbtk;  e. tpil njhpatpy;iy 

 
26. The anterior lobe of pituitary gland is called as __________.  

a. Adenohypophysis   b. Neurohypophysis   c. Epiphysis    
d. Diaphysis     e. Answer not known 
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gpl;A+l;lhp Rug;gpapd; Kd;fJg;G _________ vd miof;fg;gLfpwJ?  
a. mbNdhi`g;Nghigrp];  b. epA+Nuhi`g;Nghigrp];   c. vg;gpigrp];  
d. ilahigrp];   e. tpil njhpatpy;iy 

 
27. Diabetes insipidus caused by deficiency of __________.  

a. Oxytocin    b. Vasopressin    c. Insulin   
d. Adrenaline  e. Answer not known 
lahgB]; ,d;rpgpl]; __________ Fiwghl;lhy; Vw;gLfpwJ.  
a. Mf;]pNlhrpd;  b. thNrhgpu];]pd;   c. ,d;Rypd;   
d. ml;hPdypd;   e. tpil njhpatpy;iy 

 
28. Which of the following helps in the contraction of the smooth muscles of uterus at the 

time of child birth and milk Ejection gland after child birth?  
a. Oxytocin    b. prolactin    c. Vasopressin   
d. Adrenaline  e. Answer not known  
gpd;tUdtw;Ws; vJ ngz;fspd; Foe;ijg;Ngw;wpd; NghJ fUg;igia RUf;fpAk; 
Foe;ijg;Ngw;Wf;F gpwF ghy; Rug;gpfspy; ghiy ntspNaw;Wtjw;Fk; fhuzkhfpwJ?  
a. Mf;rpNlhrpd;   b. GNuhyhf;Bd;   c. thNrhgpurpd;   
d. ml;hpdypd;   e. tpil njhpatpy;iy 

 
29. Which of the following is also known as personality hormone?  

a. Epinephrine   b. Norepinephrine    c. Thyroxine     
d. Parathormone   e. Answer not known 
gpd;tUtdtw;Ws; vJ "MSik `hh;Nkhd;" vd;Wk; miof;fg;gLfpwJ?  
a. vgpne/g;hpd;   b. ehh; vgpne/g;hpd;    c. ijuhf;rpd;    
d. ghuhjhh;Nkhd;   e. tpil njhpatpy;iy 

 
30. The excess secretion of the thyroid hormones which leads to _________.  

a. Grave's disease   b. Cretinism    c. Christmas disease   
d. Cushing's disease  e. Answer not known 
ijuha;L `hh;Nkhd;fspd; mjpfhpj;j Rug;gpd; fhuzkhf ________ cz;lhfpwJ.  
a. fpNutpd; Neha;   b. fphpl;bdprk;   c. fphp];k]; Neha;   
d. F~;rpq; Neha;   e. tpil njhpatpy;iy 

 
31. Match the following:  

List – I     List – II  
A. Alpha cell   1. Frequent urination  
B. Beta Cell    2. Increase in appetite  
C. Polyuria    3. Increased thirst  
D. Polydipsia   4. Insulin  
E. Polyphagia   5. Glucagon  
 A B C D E 
a. 4 5 3 2 1  
b. 1 2 3 4 5  
c. 5 4 1 3 2  
d. 4 3 2 1 5  
e. Answer not known 
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nghUj;Jf: 
 gFjp – I    gFjp – II  
A. My;/gh nry;  1. mbf;fb rpWePh; fopj;jy;  
B. gPl;lh nry;   2. mjpf grp vLj;jy;  
C. ghypA+hpah   3. mjpf jhfk; vLj;jy;  
D. ghypbg;rpah   4. ,d;Rypd;  
E. ghyp/Ng[pah   5. FSf;Nfhfhd;  
 A B C D E 
a. 4 5 3 2 1  
b. 1 2 3 4 5  
c. 5 4 1 3 2  
d. 4 3 2 1 5 
e. tpil njhpatpy;iy  
 

32. The first fluid which is released from the mammary gland after child birth is called as 
_______. 
a. Colostrum    b. Prolactin    c. Lactin    
d. lactase    e. Answer not known 
Foe;ij gpwg;gpw;Fg; gpwF ghy; Rug;gpapypUe;J Kjd; Kjypy; ntsptUk; ghy; _________ 
vdg;gLk;.  
a. nfhy];l;uk;  b. GNuhyhf;bd;   c. yhf;bd;   
d. yhf;Nl];    e. tpil njhpatpy;iy 

 

33. Match the following:  
 List – I      List – II  
A. Male      1. Tubectomy 
B. Female      2. Vasectomy  
C. IUDs     3. Lippe's Loop 
D. Hormonal methods    4. Contraceptive pills  
  A B C D 
a.  2 1 3 4  
b.  1 2 3 4  
c.  4 2 3 1   
d.  3 2 1 4 
e. Answer not known 
nghUj;Jf: 
 gFjp – I     gFjp – II  
A. Mz;     1. bA+ngf;lkp  
B. ngz;      2. thnrf;lkp 
C. IUDs     3. ypg;gp]; Y}g;  
D. `hh;Nkhd; Kiwfs;    4. fUj;jil khj;jpiufs;  

  A B C D 
a.  2 1 3 4  
b.  1 2 3 4  
c.  4 2 3 1   
d.  3 2 1 4 
e. tpil njhpatpy;iy  
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34. What is the formula of Body mass index (BMI) 
a. BMI  = Weight (kg) / Height (m)2 

b. BMI  = Weight (g) / Height (m)2 
c. BMI  = Weight (mg) / Height (m)2 

d. BMI  = Wight (kg) / Height (cm)2 

e. Answer not known 

clw;gUkf; Fwpapl;bd; #j;jpuk; (BMI) vd;d? 
a. BMI = vil (fpfp)/ cauk; (kP)2   

b. BMI = vil (fp)/ cauk; (kP)2 

c. BMI = vil (kpfp) / cauk; (kP)2   
d. BMI = vil (fpfp) / cauk; (nr.kP)2 

e. tpil njhpatpy;iy 
 

35. Desirable level for blood cholesterol should be less than ________ for Indians.  
a. 100 mg/dl   b. 150 mg/dl    c. 200 mg/dl   
d. 250 mg/dl   e. Answer not known 
,e;jpah;fspd; ,uj;jj;jpy; ,Uf;f Ntz;ba tpUk;gj;jf;f nfhOg;gpd; msthdJ _______ 
MFk;.  
a. 100 kpfp / nlrpyp b. 150 kpfp / nlrpyp  c. 200 kpfp / nlrpyp 
d. 250 kpfp / nlrpyp  e. tpil njhpatpy;iy  

 
36. The human circulatory system can circulate a millilitre of blood from the heart to feet 

and back again within how many seconds? 
a. 60 seconds   b. 30 seconds    c. 90 seconds   
d. 120 seconds  e. Answer not known 
kdpjdpd; ,uj;j Xl;lkz;lyj;jpd; %yk; xU kpy;yp ypl;lh; ,uj;jkhdJ vj;jid 
tpdhbfspy; ,jaj;jpypUe;J ghjk; tiu nrd;W kPz;Lk; ,jaj;jpw;F te;J Nrh;e;J 
tpLfpwJ?  
a. 60 tpdhbfs;  b. 30 tpdhbfs;    c. 90 tpdhbfs;   
d. 120 tpdhbfs;   e. tpil njhpatpy;iy 
 

37. Erythropoietin is a hormone secreted by which organ? 
a. Liver   b. Bone Marrow   c. Kidney   
d. Spleen  e. Answer not known 
vhpj;Nuhghal;bd; vDk; `hh;Nkhd; ve;j cWg;ghy; Ruf;fg;gLfpwJ?  
a. fy;yPuy;  b. vYk;G k[;i[   c. rpWePufk;    
d. kz;zPuy;   e. tpil njhpatpy;iy 

 
38. Match the following: 

Blood Group   Agglutinin  
A. A    1. No Antibodies  
B. B    2. Anti A and Anti B 
C. AB     3. Anti A 
D. O     4. Anti B 
 A B C D 
a. 1 2 3 4 
b. 4 3 1 2 
c. 3 4 2 1 
d. 2 3 4 1 
e. Answer not known 
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nghUj;Jf:  
,uj;j tFg;G   mf;@l;bdpd;fs;  
A. A    1. Md;bghbfs; ,y;iy  

B. B    2. Md;b A kw;Wk; Md;b B  
C. AB    3. Md;b A 
D. O     4. Md;b B 
 A B C D 
a. 1 2 3 4 
b. 4 3 1 2 
c. 3 4 2 1 
d. 2 3 4 1 
e. tpil njhpatpy;iy 

 
39. The blood clotting factor prothrombin is converted to its active form called thrombin in 

the presence of _______ 
a. Calcium   b. Magnesium    c. Vitamin K   
d. a and c   e. Answer not known 
,uj;jk; ciwjy; fhuzpahd GNuhj;uhk;gpd; ________ Kd;dpiyapy; nray;gLk; 
jpuhk;apdhf khw;wkilfpwJ.  
a. fhy;rpak;    b. nkf;dprpak;    c. itl;lkpd; K   
d. a kw;Wk; c    e. tpil njhpatpy;iy 

 
40. Which of the following is correct? 

a. Pulse Pressure = Systolic Pressure – Diastolic Pressure  
b. Pulse Pressure = Diastolic Pressure – Systolic Pressure  
c. Pulse Pressure = Heart Rate × Stroke Volume  
d. Pulse Pressure = Heart Rate × EDV 
e. Answer not known 
gpd;tUtdtw;Ws; vJ rupahdJ? 
a. ehbj;Jbg;G mOj;jk; = rp];Nlhypf; mOj;jk; - la];Nlhypf; mOj;jk; 
b. ehbj;Jbg;G mOj;jk = la];Nlhypf; mOj;jk; - rp];Nlhypf; mOj;jk; 
c. ehbj;Jbg;G mOj;jk = ,jaj;Jbg;G tPjk; × tPr;Rnfhs;ssT  
d. ehbj;Jg;G mOj;jk; = ,jaj;Jbg;G tPjk; × EDV 
e. tpil njhpatpy;iy 
 

41. Which of the following causes stroke in human? 
a. Brain Haemorrhage b. Atherosclerosis    c. Thrombus     
d. All of these  e. Answer not known 
gpd;tUtdtw;Ws; vJ kdpju;fspy; gf;fthjj;ij vw;gLj;JfpwJ? 
a. %is ,uj;jf;frpT  b. mj;jpNuh];fpspNuhrp];   c. ,uj;jf;fl;b    
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

42. Ischemic Pain in the heart muscles is called ______ 
a. Heart Attack   b. Myocardial Infraction  c. Angina Pectoris     
d. Rheumatic Heart Disease e. Answer not known 
FUjpj; jilahy; ,jaj;jirapy;  Vw;gLk; typ _______ vd;W miof;fg;gLfpwJ.  
a. khuilg;G    b. ,jaj;jir erpTwy; Neha;  
c. MQ;irdh ngf;Nlhup];  d. Ukhl;bf; ,ja Neha;  
e. tpil njhpatpy;iy 
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43. Find the natural auxins 
a. Phenyl Acetic Acid (PAA)   b. Indole 3 Acetonitrile (IAN) 
c. Indole - 3 - Acetic Acid (IAA)   d. All of these 
e. Answer not known 
,aw;if Mf;rpd;fis fz;Lgpb 
a. gpidy; mrpbf; mkpyk; (PAA)   b. ,z;Nlhy; 3 mrpNlhiel;iuy; (IAN)  
c. ,z;Nlhy; 3 – mrpl;bf; mkpyk; (IAA) d. ,it midj;Jk;  
e. tpil njhpatpy;iy 

 
44. The hormoners help for formation of parthenocarpic fruits _______ 

a. Auxins  b. Cytokinins    c. Gibberellins  
d. a and c  e. Answer not known 
ghh;j;jpNdh fhh;gpf; fdpfs; cUthf;fj;jpw;F cjTk; `hh;Nkhd;fs; _________ 
a. Mf;rpd;fs;  b. irl;Nlhifdpd;fs;  c. [pg;uypd;fs;   
d. a kw;Wk; c  e. tpil njhpatpy;iy 
 

45. Application of cytokinin delays the process of ageing in plants. This is called _________ 
a. Richmond Lang effect  b. Purkinje effect   c. Holtzman effect  
d. Gibbs – Donnan effect  e. Answer not known 
irl;Nlhifdpd;fisg; gad;gLj;Jk;NghJ jhtuq;fs; KJikailtJ 
jhkjg;Lj;jg;gLfpwJ. ,jw;F _______ vd;W ngah;.  
a. hpr;khz;l; yhq;f; tpisT b. gh;fpd;[p tpisT  c. N`hy;l;]; Nkd; tpisT  
d. fpg;]; - ^dhd; tpisT  e. tpil njhpatpy;iy 

46. Bakanae disease (internodal elongation) in rice was caused by fungus. 
a. Pyricularia Oryzae  b. Puccinia graminis   c. Alternaria Solani  
d. Gibberella fujikuroi  e. Answer not known 
ney; gaphpy; gf;fhNd Neha;ia (fZtpilg;gFjp ePl;rp) cz;lhf;Fk; G+Q;ir 
a. ighpf;FNyhpah XiuNr  b. gf;rpdpah fpuhkpdp]; c. my;lh;ehhpah Nrhyhdp  
d. [pg;hpy;yh gpA+[pFuha;   e. tpil njhpatpy;iy 

 
47. Which one of the following is called stress hormone? 

a. Abscisic acid  b. Gibberellins   c. Auxins   
d. Cytokinins   e. Answer not known 
gpd;tUgtw;Ws; vJ ,Wf;fepiy `hh;Nkhd; vd miof;fg;gLfpwJ?  
a. mg;rprpf; mkpyk;  b. [pg;uy;ypd;fs;   c. Mf;rpd;fs;    
d. irl;Nlhifdpd;fs;  e. tpil njhpatpy;iy 

 
48. Match the following:  

Vegetative reproduction   Plant organism  
A. Fragmentation    1. Amoeba 
B. Fission     2. Planaria  
C. Budding     3. Yeast  
D. Regeneration    4. Spirogyra  
 A B C D 
a. 4 1 2 3  
b. 1 4 3 2  
c. 4 1 3 2  
d. 1 4 2 3 
e. Answer not known 
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nghUj;Jf:  
cly ,dg;ngUf;fk;   jhtuk;  
A. Jz;lhjy;    1. mkPgh  

B. gpsj;jy;    2. gpsNdhpah 
C. nkhl;L tpLjy;   3. <];l; 
D. ,og;G kPl;ly;   4. ];igNuhifuh  
 A B C D 
a. 4 1 2 3  
b. 1 4 3 2  
c. 4 1 3 2  
d. 1 4 2 3 
e. tpil njhpatpy;iy 

 
49. Who discovered the basic principles of heredity through his experiments?  

a. T.H. Morgan    b. James Watson    c. Hugo de Vries   
d. Gregor Johann Mendel   e. Answer not known 
kugpaypd; mbg;gilj; jj;Jtq;fis Nrhjidfs; %yk; fz;Lgpbj;jth; ahh;?  
a. T.H. Nkhh;fd;   b. N[k;]; thl;rd;    c. `pA+Nfh Bthp];  
d. fphpfh; N[hfd; nkz;ly;  e. tpil njhpatpy;iy  
 

50. ______ is a graphical representation to calculate the probability of all possible genotypes 
of off springs in a genetic cross.  
a Pedigree chart   b. Punnett square    c. both are correct    
d. Both are incorrect  e. Answer not known 
kugpay; fyg;gpy; [PNdhilg; vt;thW cUthfpwJ vd;gij njhpe;J nfhs;Sk; xU 
tiugl Kiw _______ MFk;.  
a. gpBfphp tpsf;fg;glk;  b. Gd;dl; fl;lk;    c. ,uz;Lk; rhp   
d. ,uz;Lk; rhpay;y  e. tpil njhpatpy;iy 
 

51. The term "Chromosome" was first coined by _________ in 1888.  
a. Waldeyer    b. Robert Brown    c. Robert Hooke   
d. Theodor Schwann  e. Answer not known 
________ vd;gth; 1888 y; "FNuhNkhNrhk;fs;" vd;w nrhy;iy Kjd; Kjypy; cUthf;fp 
gad;gLj;jpdhh;. 
a. thy;Nlah;   b. uhgh;l; gpnusd;    c. uhgh;l; `Pf;   
d. jpNahlh; ];rthd;  e. tpil njhpatpy;iy 
 

52. Which one of the following is called 4 "O" clock plant? 
a. Pisum sativum   b. Vigna mungo    c. Mirabilis Jalapa   
d. Cicer arietinum   e. Answer not known 
gpd;tUtdtw;Ws; ve;jnthd;W 4 kzpj;jhtuk; vd;W miof;fg;gLfpwJ?  
a. igrk; rl;iltk;  b. tpf;dh Kq;Nfh    c. kpuhgpyp]; [yhgh   

d. irrh; mh;l;bdk;  e. tpil njhpatpy;iy 
 

53. The unit of distance in a genetic map is called a map unit one map unit is also called a 
__________. 
a. Milli Morgan   b. Centimorgan    c. Decimorgan    
d. Decamorgan   e. Answer not known 
kukZ tiuglj;jpd; njhiyitf; Fwpf;Fk; myF tiugl myF vd;W 
miof;fg;gLfpwJ. xU tiugl myif xU ________ vdTk; $wyhk;. 
a. kpy;yp khh;fd;  b. nrd;b khh;fd;   c. nlrp khh;fd;    
d. nlf;fh khh;fd;   e. tpil njhpatpy;iy 
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54. Which one of the following is useful in predicting results of dihybrid and trihybrid 
crosses?  
a. Tetrad    b. Recombination    c. Genetic mapping   
d. Crossing over   e. Answer not known 
gpd;tUtdtw;Ws; ve;jnthd;W ,Ugz;G fyg;G kw;Wk; Kg;gz;G fyg;Gfspd; KbTfisf; 
fzpf;f gad;gLfpd;wd? 
a. ehd;fik   b. kW$l;bizT   c. kugZ tiuglk;   
d. FWf;Nfw;wk;   e. tpil njhpatpy;iy 
 

55. Golden rice can control which of the following disease? 
a. Xerophthalmia    b. Osteomalacia     c. Pellagra   
d. Pernicious Anemia     e. Answer not known 
nghd;epw mhprp fPo;fhz;gdtw;Ws; ve;j Neha;ia fl;Lg;gLj;JfpwJ? 
a. rPNuhg;jhy;kpah    b. M];bNahkNyrpah    c. ngy;yf;uh  
d. ngh;dprpa]; ,uj;jNrhif  e. tpil njhpatpy;iy 
 

56. Match the following: 
Phytochemicals     Uses  
A. Digoxin     1. Antimalarial 
B. Codeine     2. Anti-Carcinogenic  
C. Capsaicin    3. Analgesic  
D. Vincristine    4. Cardiac tonic 
E. Quinine     5. Rheumatic pain treatment   
 A B C D E 
a. 3 5 4 2 1 
b. 5 3 2 4 1 
c. 4 3 5 2 1 
d. 5 4 3 2 1 
e. Answer not known 
nghUj;Jf: 
jhtu Ntjpg;nghUl;fs;   gad;fs;  
A. b[hf;]pd;    1. kNyhpah vjph;kUe;J 
B. Nfhbd;    2. Gw;WNeha;f;F vjph;kUe;J  
C. Nfg;irrpd;   3. typ epthuzp  
D. tpd;fphp];ild;   4. ,jaj;jpw;F kUe;J  
E. Fapidd;    5. thjtypia Fzg;gLj;Jk; 
 A B C D E 
a. 3 5 4 2 1 
b. 5 3 2 4 1 
c. 4 3 5 2 1 
d. 5 4 3 2 1 
e. tpil njhpatpy;iy 
 

57. Match the following: 
List-I     List-II 

A. Halophytes    1. Plants living in acidic soil  
B. Psammophytes   2. Plants living in ice surface  
C. Cryophytes    3. Plants living in Saline soils  
D. Oxylophytes   4. Plants living in sandy soils     
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 A B C D 
a. 3 2 4 1 
b. 3 1 2 4 
c. 3 4 2 1 
d. 3 1 4 2  
e. Answer not known 
nghUj;Jf: 

gFjp - I     gFjp - II 
A. N`Nyhigl;];   1. mkpy kz;zpy; thOk; jhtuq;fs;  
B. rhNkhigl;];   2. gdpg;glyk; kPJ thOk; jhtuq;fs;  
C. fpiuNahigl;];   3. ctu; kz;zpy; thOk; jhtuq;fs; 
D. Mf;rpNyhigl;];   4. kzw;ghq;fhd gFjpapy; thOk; jhtuq;fs;  
 A B C D 
a. 3 2 4 1 
b. 3 1 2 4 
c. 3 4 2 1 
d. 3 1 4 2 
e. tpil njhpatpy;iy  
   

58. Match the following: 
List-I     List-II 

A. World forest day    1. September 16 
B. Earth day     2. March 3 
C. World Biodiversity Day   3. March 21 
D. World Wildlife Day   4. April 22 
E. International Ozone Day  5. May 22  

A B C D E 
 a. 5 4 3 2 1 
 b. 2 4 3 5 1 
 c. 3 4 5 2 1 

d. 3 4 2 5 1 
e. Answer not known 

 ngUj;Jf  
gFjp-I     gFjp-II 

A. cyf td jpdk;    1. nrg;lk;gu; 16 
B. Gtp jpdk;     2. khh;r; 3 
C. cyf gy;Yaph; jpdk;   3. khu;r; 21 
D. cyf tdtpyq;F jpdk;  4. Vg;uy; 22 
E. mfpy cyf XNrhd; jpdk;  5. Nk 22  

  A B C D E 
 a. 5 4 3 2 1 
 b. 2 4 3 5 1 
 c. 3 4 5 2 1 

d. 3 4 2 5 1 
e. tpil njhpatpy;iy 
 

59. Carbon stored in the atmosphere and oceans is called as ______. 
a. Blue Carbon   b. Green Carbon   c. Grey Carbon    
d. Black Carbon   e. Answer not known 
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tspkz;lyk; kw;Wk; fly;fspy; Nrkpf;fg;gLk; fhh;gd; ________ vd;W miof;fg;gLfpwJ. 
a. ePy fhh;gd;   b. gRikf; fhh;gd;   c. rhk;gy; fhh;gd;  
d. fUikf; fhh;gd;   e. tpil njhpatpy;iy 
 

60. Choose the incorrectly matched pair 
a. Monosaccharide  - Glucose 
b. Disaccharide  - sucrose 
c. polysaccharide  - Cellulose 
d. None of these 
e. Answer not known 
jtwhd ,iziaj; Njh;e;njL 
a. xw;iwr;rh;f;fiu  - F@f;Nfh]; 
b. ,ul;ilr; rh;f;fiu - Rf;Nuh]; 
c. $l;Lr; rh;f;fiu  - nry;YNyh]; 
d. Nkw;$wpa VJkpy;iy 
e. tpil njhpatpy;iy 
 

61. Match the following 
A. Vitamin A   1. Derivative of Quinone 
B. Vitamin K   2. Retinol 
C. Vitamin C   3. Ascorbic Acid 
D. Vitamin D   4. Calciferol 
E. Vitamin E   5. Tocoferol 
 A B C D E 
a. 1 2 3 4 5 
b.  2 1 3 4 5 
c. 3 2 1 5 4 
d.  3 1 2 4 5 
e. Answer not known 
nghUj;Jf 
A. itl;lkpd; A  1. FapNdhdpd; Ntjpg;nghUs; 
B. itl;lkpd; K  2. nul;bdhy; 
C. itl;lkpd; C  3. m];fhh;gpf; mkpyk; 
D. itl;lkpd; D  4. fhy;rp/nguhy; 
E. itl;lkpd; E  5. NlhNfh/nguhy; 
 A B C D E 
a. 1 2 3 4 5 
b.  2 1 3 4 5 
c. 3 2 1 5 4 
d.  3 1 2 4 5 
e. tpil njhpatpy;iy 
 

62. Match the following 
A. Vitamin B1  1. Thiamine 
B. Vitamin B2   2. Riboflavin 
C. Vitamin B3  3. Niacin 
D. Vitamin B6  4. Pyridoxine 
E. Vitamin B12  5. Cyano cobalamine 
 
 



 

17 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 3 5 
c.  3 2 1 5 4 
d. 4 5 2 1 3 
e. Answer not known 
nghUj;Jf 
A. itl;lkpd; B1  1. jakpd; 
B. itl;lkpd; B2  2. hpNgh/gpNstpd; 
C. itl;lkpd; B3  3. epahrpd; 
D. itl;lkpd; B6  4. ighplhf;rpd; 
E. itl;lkpd; B12  5. iraNdhNfhghyikd; 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 4 3 5 
c.  3 2 1 5 4 
d. 4 5 2 1 3 
e. tpil njhpatpy;iy 
 

63. Deficiency of proteins and energy leads to  
a. Kwashiorkor  b. Marasmus    c. Thyroid   
d. Both a and b  e. Answer not known 
Gujf;FiwghL kw;Wk; Mw;wy; Fiwghl;lhy; Vw;gLtJ 
a. FthrpNahh;fh;  b. kuh];k];    c. ijuha;L   
d. a kw;Wk; b   e. tpil njhpatpy;iy 
 

64. Choose the incorrect statement about Dengue fever 
a. It caused by flavi virus 
b. It spreaded by Aedes Egypti mosquitoes 
c. Decrease in Blood platelets 
d. Decrease in white blood cells 
e. Answer not known 
nlq;F fha;r;ry; gw;wp jtwhd $w;W vJ? 
a. gpnytp iturpdhy; Vw;gLfpwJ 
b. Vb]; v[pg;b nfhRf;fspdhy; guTfpwJ 
c. ,jpy; uj;jj; jl;Lfspd; vz;zpf;if FiwAk; 
d. ,jpy; uj;j nts;isaZf;fspd; vz;zpf;if Fiwe;J fhzg;gLk; 
e. tpil njhpatpy;iy 

 

65. Which of the following disease is not spread by Bacteria? 
a. Tuberculosis  b. Chickenpox   c. Cholera   
d. Typhoid   e. Answer not known 
gpd;tUtdtw;Ws; ghf;Bhpahthy; guthj Neha; vJ? 
a. fhrNeha;   b. jl;lk;ik    c. fhyuh   
d. ilgha;L   e. tpil njhpatpy;iy 
 

66. Choose the correct statement about penicillin 
a. It produced from the fungi of penicillium notatum 
b. It is called as queen of drugs 
c. First antibiotic drug discovered in the world in 1928 by Alexander Fleming 
d. All of these 
e. Answer not known 
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ngd;rpypd; gw;wpa $w;Wfspy; rhpahdJ vJ? 
a. ngdprpypak; nehl;Nll;lk; vd;w g+Q;irapypUe;J ,k;kUe;J cUthf;fg;gLfpwJ. 
b. kUe;Jfspd; uhzp vd;W miof;fg;gLfpwJ 
c. 1928Mk; Mz;L mnyf;]hz;lh; /gpnskpq; vd;gtuhy; cyfpNyNa Kjd;Kjypy; 

fz;lwpag;gl;l Neha; vjph;g;G rf;jp kUe;J 
d. Nkw;$wpa midj;Jk; 
e. tpil njhpatpy;iy 

 

67. Choose the incorrect statement about Red blood cells 
a. It always contain a nucleus   
b. these cells die quickly 
c. two million red blood cells die every second 
d. None of these 
e. Answer not known 
,uj;j rptg;G nry;fs; Fwpj;J jtwhdJ vJ? 
a. ,jpy; cl;fU vg;NghJk; fhzg;gLfpwJ 
b. ,e;j nry;fs; tpiutpy; ,wf;fpd;wd 
c. Rkhh; ,uz;L kpy;ypad; rptg;G nry;fs; xt;nthU nehbAk; ,wf;fpd;wd 
d. ,it VJkpy;iy 
e. tpil njhpatpy;iy 
 

68. Who classified the animals into with blood and without blood? 
a. Darwin   b. Aristotle   c. R.H. Whitakkar  
d. Robert Hooke  e. Answer not known 
tpyq;Ffis ,uj;jk; cila tpyq;Ffs; kw;Wk; ,uj;jk; mw;w tpyq;Ffs; vdg; gphpj;jth; 
a. lhh;tpd;   b. mhp];lhl;by;  c. R.H. tpl;Nlf;fh;  
d. ,uhgh;l; `_f;  e. tpil njhpatpy;iy 

 
69. Match the following 

A. Protozoa   1. Euglena 
B. Porifera   2. Sycon 
C. Coelenterata  3. Hydra 
D. Platyhelminthes  4. Planaria 
E. Annelida   5. Earth Worm 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 3 4 5 
c. 1 2 4 3 5 
d. 2 1 3 5 4 
e. Answer not known 
nghUj;Jf 
A. GNuhl;NlhNrhth  1. A+f;spdh 
B. nghhpnguh   2. irfhd; 
C. rPnyd;bNul;lh  3. i`l;uh 
D. gpshl;bn`y;kpd;j]; 4. gpshNdhpah 
E. mdyplh   5. kz;GO 
 A B C D E 
a. 1 2 3 4 5 
b. 2 1 3 4 5 
c. 1 2 4 3 5 
d. 2 1 3 5 4 
e. tpil njhpatpy;iy 
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70. Match the following 
A. Nematoda   1. Millipede 
B. Arthopoda  2. Ascaris Lumbricoides 
C. Mollusca   3. Octopus 
D. Echinodermata  4. Kangaroo 
E. Mammalia   5. Sea Urchin 
 A B C D E 
a. 1 2 4 3 5 
b. 3 1 2 5 4 
c. 2 1 3 5 4 
d. 4 2 5 1 3 
e. Answer not known 
nghUj;Jf 

 A. nekNlhlh   1. kutl;il 
 B. Mh;j;NuhNghlh  2. m];fhhp]; Yk;gphpfha;l;l]; 
 C. nky;Ylypfs;  3. Mf;Nlhg]; 
 D. Kl;Njhypfs;  4. fq;fhU 
 E. ghY}l;b   5. fly; rhke;jp 

 A B C D E 
a. 1 2 4 3 5 
b. 3 1 2 5 4 
c. 2 1 3 5 4 
d. 4 2 5 1 3 
e. tpil njhpatpy;iy 
 

71. Which of the following is the Natural Food preservative? 
a. Salt    b. Sugar    c. Oil    
d. All of these  e. Answer not known 
gpd;tUtdtw;Ws; ,aw;if czTg; ghJfhg;Gg; nghUs; vJ? 
a. cg;G   b. rh;f;fiu    c. vz;nza;   
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

72. Choose the correct sequences regarding the stages of Aerobic respiration 
a. Glycolysis, Krebs cycle, Electron transport chain 
b. Krebs cycle, glycolysis, electron transport chain 
c. Krebs cycle, electron transport chain, glycolysis 
d. Glycolysis, electron transport chain, Krebs cycle 
e. Answer not known 
fhw;Ws;s Rthrj;jpYs;s gbepiyfspd; rhpahd thpiriaj; Njh;e;njL 
a. fpisf;fhyprp];> fpug; Row;rp> vyf;l;uhd; flj;Jk; rq;fpyp mikg;G 
b. fpug; Row;rp> fpisf;fhyprp];> vyf;l;uhd; flj;Jk; rq;fpyp mikg;G 
c. fpug; Row;rp> vyf;l;uhd; flj;Jk; rq;fpyp mikg;G> fpisf;fhyprp]; 
d. fpisf;fhyprp];> vyf;l;uhd; flj;Jk; rq;fpyp mikg;G> fpug; Row;rp 
e. tpil njhpatpy;iy 
 

73. The process, Glycolysis takes place in 
a. Mitochondria   b. Cytoplasm  c. Protoplasm  
d. Cell membrane   e. Answer not known 
fpisf;fhyprp]; eilngWk; ,lk; 
a. ikl;Nlhfhz;l;hpah  b. irl;Nlhgpshrk;  c. GNuhl;Nlhgpshrk;  
d. nry; rt;T    e. tpil njhpatpy;iy 
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74. In which process, the movement of water occurs exclusively through the intercellular 
spaces and the walls of the cells? 
a. Apoplast pathway  b. Symplast pathway  c. Transpiration  
d. Aerobic respiration  e. Answer not known 
ve;j Kiwapy; ePuhdJ KOf;f KOf;f nry;Rth; kw;Wk; nry; ,ilntspapd; topahfr; 
nry;fpwJ? 
a. mg;Nghgpsh];l; top  b. rpk;gpsh];l; top  c. ePuhtpg;Nghf;F   
d. fhw;Ws;s Rthrk;   e. tpil njhpatpy;iy 
 

75. Choose the incorrect statement about Human Heart? 
a. Heart is made of cardiac muscle 
b. Heart is enclosed by pericardium 
c. The chambers are separated by partition called septum 
d. Pulmonary veins bring deoxygenated blood 
e. Answer not known 
kdpj ,jak; gw;wpa jtwhd $w;wpidj; Njh;e;njL 
a. ,jak; fhh;bahf; jirapdhy; MdJ 
b. ,jak; nghpfhl;bak; ciwahy; #og;gl;Ls;sJ 
c. nrg;lk; vd;gJ ,jaj;jpd; miwfisg; gphpf;Fk; ,ilr;Rth; 
d. Mf;rp[d; Fiwe;j ,uj;jj;ij EiuaPuy; rpiufs; ngWfpd;wd 
e. tpil njhpatpy;iy 

 

76. The diameter of the capillaries is 

a. 5  m b. 6 m   c. 7 m  d. 8 m e. Answer not known 
,uj;jj; je;Jfpfspd; tpl;lk; 
a. 5  m b. 6 m   c. 7 m  d. 8 m e. tpil njhpatpy;iy 
 

77. Persons with what blood group can receive blood from persons with any blood group? 
a. A group   b. AB Group   c. B group   
d. O group   e. Answer not known 
ve;j ,uj;j tifapidf; nfhz;l egh; midj;J ,uj;j tifapdhplkpUe;Jk; ,uj;jj;ij 
Vw;Wf;nfhs;gth;? 
a. A tif   b. AB tif   c. B tif   
d. O tif   e. tpil njhpatpy;iy 
 

78. Which of the following is called as “emergency hormone”? 
a. Adrenaline   b. Noradrenaline   c. Thyroid   
d. a and b   e. Answer not known 
nghJthf mtrufhy `hh;Nkhd; vd;W miof;fg;gLtJ vJ? 
a. ml;hpdypd;   b. ehh;ml;hpdypd;   c. ijuha;L   
d. a & b   e. tpil njhpatpy;iy 
 

79. Choose the correct statement 
1. Sometimes ovaries releases two eggs and each is fertilized by a different sperm 

resulting in Non-identical Twins 
2. If single egg is fertilized and then divides into two foetus, identical twins develop 
a. 1 only   b. 2 only   c. 1 and 2   
d. none of these  e. Answer not known 
rhpahd $w;wpidj; Njh;e;njL 
1. rpy rkaq;fspy; mz;lfj;jpdhy; ,uz;L Kl;ilahdJ ntspaplg;gl;L ,U NtWgl;l 

tpe;Jthy; fUTWjy; eilngw;W NtWgl;l ,ul;ilah;fs; cUthfpd;wdh; 
2. xU Kl;ilahdJ xu; tpe;Jthy; fUTwr; nra;ag;gl;L ,uz;L fUthf gpsTgl;lhy; 

xj;j ,ul;ilah;fs; cUthfpd;wdh;. 
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a. 1 kl;Lk;   b. 2 kl;Lk;   c. 1 kw;Wk; 2  
d. ,it VJkpy;iy  e. tpil njhpatpy;iy 
 

80. Each gene is present at a specific position on a chromosome called its ________ 
a. Locus   b. Focus   c. Centromere   
d. Genome   e. Answer not known 
xt;nthU [PDk; FNuhNkhNrhkpy; xU Fwpg;gpl;l miktplj;jpy; mike;Js;sij vt;thW 
miof;fpNwhk;? 
a. Nyhf];   b. /Nghf];   c. nrd;l;Nuhkpah;   
d. [PNdhk;   e. tpil njhpatpy;iy 
 

81. Which of the following genetic disorder is caused by the mutation of a single gene? 
a. Sickle cell Anaemia  b. Cystic fibrosis  c. Down syndrome   
d. Albinism    e. Answer not known 
gpd;tUtdtw;wpy; ve;j kugpay; Neha; xw;iw [Pdpy; Vw;gLk; jpBh;khw;wj;jhy; Vw;gLfpwJ? 
a. fjph; mhpths; ,uj;j Nrhif b. rp];bf; igg;Nguh]p];  c. lTd; Neha;  
d. my;gpdprk;    e. tpil njhpatpy;iy 
 

82. Who received Nobel Prize in physiology for his discoveries concerning the role played 
by chromosomes in heredity? 
a. Thomas Hunt Morgan  b. Charles Darwin  c. Karl Landsteiner   
d. Mendal    e. Answer not known 
ghuk;ghpaj;jpy; FNuhNkhNrhk;fspd; gq;F gw;wpa fz;Lgpbg;GfSf;fhf kUj;Jtk; rhh;e;j 
Jiwf;fhd Nehgy; ghpirg; ngw;wth; ahh;? 
a. jhk]; `z;l; khh;fd;  b. rhh;y]; lhh;tpd;  c. fhh;y; Nyd;];Bdh;   
d. nkz;ly;    e. tpil njhpatpy;iy 
 

83. Which of the following is called as Protozoal disease?  
a. Amoebic dysentery   b. Malaria     c. a and b    
d. Rabies     e. Answer not known 
gpd;tUtdtw;Ws; vJ GNuhl;Nlh Nrhty; Neha; vd;W miof;fg;gLfpwJ? 
a. mkPgpf; rPjNgjp   b. kNyhpah     c. a kw;Wk; b    
d. Nugp];     e. tpil njhpatpy;iy 

 

84. Beverages like wine are produced by fermentation of grape fruits by _____. 
a. Bacillus megaterium   b. Saccharomyces Cerevisiae  
c. Aspergillus niger    d. Frankia  
e. Answer not known 
jpuhl;ir urq;fs; (itd;) Nghd;w ghdq;fs; jpuhl;irg; goj;ij ______ nfhz;L nehjpf;f 
itj;J jahhpf;fg;gLfpd;wd.  
a. /Ngrpy;y]; nkfhnlhpak; b. rf;fhNuhikrp]; nrhptprpNa  
c. m];gh;[py;y]; ie[h;  d. /g;uhd;fpah 
e. tpil njhpatpy;iy 
 

85. Melatonin is a hormone produced by which gland?  
a. Adenohypophysis   b. Ceruminous gland   c. Neurohypophysis  
d. Pineal gland    e. Answer not known 
nkyNlhdpd; `hh;Nkhd; ve;j Rug;gpahy; Ruf;fg;gLfpwJ?  
a. mbNdhi`g;Nghirrp];  b. rpUkpd]; Rug;gp  c. epA+Nuhi`g;Nghigrp];  
d. gPdpay; Rug;gp    e. tpil njhpatpy;iy 
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86. Match the following  
 List I      List II  

A. Flowering Plant    1. Riccia  
B. Non-Flowering Plant   2. Cycas  
C. Gymnosperms    3. Mango 
D. Angiosperms    4. Sun flower  

  A B C D 
 a. 4 2 1 3  
 b. 4 3 2 1 
 c. 4 1 2 3  
 d. 4 2 1 3 

e. Answer not known 
 nghUj;Jf: 

thpir I     thpir II  
A. G+f;Fk; jhtuk;   1. hpf;rpah  
B. G+thj; jhtuk;   2. irf;f]; 
C. [pk;Ndh];ngh;k;   3. kh 
D. MQ;rpNah];ngh;k;   4. #hpa fhe;jp  

  A B C D 
 a. 4 2 1 3  
 b. 4 3 2 1 
 c. 4 1 2 3  
 d. 4 2 1 3 

e. tpil njhpatpy;iy 
 
87. _______ Present in the epiphytic root of Vanda plant absorbs moisture to perform 

photosynthesis. 
a. Velamen tissue    b. Parenchyma tissue c. Collenchyma tissue  
d. Sclerenchyma tissue  e. Answer not known 
thz;lh jhtuj;jpd; njhw;W Nth;fspy; cs;s _____ fhw;wpd; <ug;gjj;ij cwpQ;rp 
xspr;Nrh;f;iff;F cjTk;  
a. ntyhkd; jpR   b. ghud;ifkh jpR  c. Nfhyd;ifkh jpR   
d. ];fpspud;ifkh jpR   e. tpil njhpatpy;iy 

 
88. Which of the following plant has the breathing roots also known as pneumatophores?  

a. Cuscuta    b. Avicennia   c. Valisneria   
d. Banyan    e. Answer not known 
fPo;f;fz;ltw;Ws; epkl;Nlh/Nghh;fs; vdg;gLk; Rthrpf;Fk; Nth;fs; fhzg;gLk; jhtuk; vJ? 
a. f];Fl;lh    b. mtprPdpah   c. thyp];ePhpah  
d. Mykuk;    e. tpil njhpatpy;iy 

  
89. Protein synthesis is carried out by _________ ribosomes in bacteria.  

a. 60 S   b. 70 S    c. 80 S   
d. 90 S   e. Answer not known 
ghf;Bhpahtpy; Gujr; Nrh;f;ifahdJ ______ tif iuNghNrhk;fshy; eilngWfpwJ.  
a. 60 S   b. 70 S    c. 80 S   
d. 90 S   e. tpil njhpatpy;iy 

 
90. Which of the following cell organelles are absent in Bacteria?  

a. Mitochondria  b. Golgi body   c. Endoplasmic reticulum   
d. All of these   e. Answer not known 
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gpd;tUk; nry; Ez;ZWg;GfSs; vit ghf;Bhpahtpy; fhzg;gLtjpy;iy?  
a. ikl;Nlhfhz;l;hpah  b. Nfhy;if clyk;    c. vz;Nlhgpshr tiygpd;dy;  

d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 
91. Protozoa are included under the king dom ________. 

a. Monera    b. Protista   c. Fungi   
d. Archaebacteria   e. Answer not known 
GNuhl;NlhNrhth tifg;ghl;by; ________ vDk; cyfpy; ,lk;ngw;Ws;sd. 
a. nkhdpuh   b. GNuhb];lh   c. G+Q;ir    
d. Mh;f;fpghf;Bhpah   e. tpil njhpatpy;iy 

 
92. Which of the following is incorrect pair? 

a. Nucleus – control centre of the cell 
b. Mitochondria – powerhouse of the cell 
c. Lysosome – suicidal bags of the cell 
d. Centriole – presence only in plant cell 
e. Answer not known 
gpd;tUtdtw;Ws; jtwhd ,iz vJ? 
a. cl;fU – nry;ypd; fl;Lg;ghl;L ikak; 
b. ikl;Nlhfhz;l;hpah – nry;ypd; Mw;wy; ikak; 
c. iyNrhNrhk;fs; - nry;ypd; jw;nfhiyg;ig 
d. nrd;l;hpNahy; - jhtu nry;fspy; kl;Lk; cs;sJ 
e. tpil njhpatpy;iy 

 
93. The Mitochondria were first discovered by ________ in 1857 

a. Kolliker    b. Benda   c. Robert Hook   
d. Robert Brown   e. Answer not known 
1857Mk; Mz;L ikl;Nlhfhz;l;hpahit Kjd; Kjyhf fz;lwpe;jth; ____ 
a. Nfhspf;fh;    b. ngz;lh   c. ,uhgh;l; `Pf;     
d. ,uhgh;l; gpnusd;   e. tpil njhpatpy;iy 
 

94. ______ is the earliest system of classification in plants:  
a. Artificial system of classification   b. Natural system of classification  
c. Phylogenetic system of classification   d. Mordern system of classification  
e. Answer not known 
jhtu tifghl;baypy; kpfTk; goikahd Kiw ___________. 
a. nraw;if tifg;ghl;L Kiw    b. ,aw;if tifg;ghl;L Kiw  
c. kuGtop tifg;ghl;L Kiw   d. etPd tifg;ghl;L Kiw  
e. tpil njhpatpy;iy 

 
95. Bentham and Hooker's classification is an example of ________. 

a. Artificial system of classification    b. Natural system of classification  
c. Phylogenetic system of classification   d. Modern system of classification  
e. Answer not known 
nge;jk; kw;Wk; `{f;fhpd; tifg;ghl;bay; Kiw _________ tifghl;bw;F vLj;Jf;fhl;L 
MFk;.  
a. nraw;if tifg;ghl;L Kiw    b. ,aw;if tifg;ghl;L Kiw  
c. kuGtop tifg;ghl;L Kiw    d. etPd tifg;ghl;L Kiw  
e. tpil njhpatpy;iy 
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96. Match the following:  
 Algae     Types of Pigments 

A. Bluegreen algae   1. Fucoxanthin 
B. Green algae   2. Chlorophyll 
C. Brown algae   3. Phycocyanin  
D. Red algae    4. Phycoerythirin  
 A B C D 
a. 3 2 1 4  
b. 3 2 4 1  
c. 2 3 1 4  
d. 2 3 4 1 
e. Answer not known 
nghUj;Jf:  
 ghrpfs;    epwkpapd; tif  
A. ePyg;gr;irg; ghrpfs;  1. /gpA+f;Nfhrhe;jpd;  

B. gr;irg; ghrpfs;   2. gr;irak;  
C. gOg;Gg; ghrpfs;    3. /igNfhradpd;  
D. rptg;Gg; ghrpfs;    4. /igNfhvhpj;jphpd;  
  A B C D 
a. 3 2 1 4  
b. 3 2 4 1  
c. 2 3 1 4  
d. 2 3 4 1 
e. tpil njhpatpy;iy 
  

97. Match the following:  
 Fungi      Name of the Disease 

A. Fusarium Oxisporam    1. Tikka disease ground nut  
B. Colletotrichum falcatum    2. Red rot of sugarcane 
C. pyricularia oryzae   3. Blast disease of paddy  
D. Albugo candida     4. white rust of radish  
E. Cercospora personata    5. wilt disease of cotton  
 A B C D E 
a. 5 2 3 4 1  
b. 5 2 4 3 1  
c. 5 4 2 3 1  
d. 5 4 3 2 1 
e. Answer not known 
nghUj;Jf: 
 G+Q;ir     Nehapd; ngah;  
A. /gpA+Nrhpak; Mf;rp];Nghuk;   1. Nth;f;fliyapy; bf;fh Neha;  
B. Nfhyplhl;iuf;fk; /gy;Nfl;lk;  2. fUk;gpy; rptg;G mOfy; Neha;  
C. ighpFNyhpah XiuNr   3. ney;ypy; gpsh];l; Neha;  
D. my;GNfh Nfz;blh   4. Ks;sq;fpapy; ntz;Gs;sp Neha;  
E. nrh;f;Nfh];Nghuh ngh;nrhNdl;lh 5. gUj;jpapy; thly; Neha;  
 A B C D E 
a. 5 2 3 4 1  
b. 5 2 4 3 1  
c. 5 4 2 3 1  
d. 5 4 3 2 1 
e. tpil njhpatpy;iy 
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98. Choose the incorrect pair 
a. Gaspard Bauhin – Binomial Nomenclature 
b. Carolus Linnaeus – Father of Modern Taxonomy 
c. R.H. whitaker – Five Kingdom classification 
d. W. Martin – Classification of Algae 
e. Answer not known 
jtwhd ,iziaj; Njh;e;njL 
a. fh];ghh;L gh`pd; - ,Unrhw; ngahpLjy; 
b. fNuhy]; ypd;Nda]; - etPd tifg;ghl;baypd; je;ij 
c. R.H. tpl;Nlf;fh; - Ie;Jyf tifg;ghL 
d. W. khh;l;bd; - ghrpfspd; tifg;ghL 
e. tpil njhpatpy;iy 

 
99. Which is the incorrect one regarding Chipko Movement? 

a. It was started in 1973 
b. It is primarily a forest conservation movement 
c. Sunderlal Bahuguna was the founder of this movement 
d. It was started in Karnataka 
e. Answer not known 
rpg;Nfh ,af;fk; Fwpj;J jtwhdJ vJ? 
a. ,t;tpaf;fk; 1973,y; njhlq;fg;gl;lJ 
b. Kjd;ikahf td ghJfhg;G ,af;fk; 
c. ,t;tpaf;fj;jpd; epWtdh; Re;jh;yhy; gFdh 
d. ,t;tpaf;fk; fh;ehlfj;jpy; njhlq;fg;gl;lJ 
e. tpil njhpatpy;iy 

 
100. Which is known as the Lungs of the Earth? 

a. Western Ghats  b. Amazon Forest   c. Alpine Forest  
d. Himalayan forest  e. Answer not known 
g+kpapd; EiuaPuy; vd;W mwpag;gLtJ vJ? 
a. Nkw;F njhlh;;r;rp kiy b. mNkrhd; fhLfs;   c. My;igd; fhLfs;  
d. ,khyaf; fhLfs;  e. tpil njhpatpy;iy 
 

101. The term Social Forestry was first used in 
a. 1970 b. 1973  c. 1975  d. 1976 e. Answer not known 
r%f tdtpay; vd;w nrhy; Kjd;Kjypy; mkYf;F te;j Mz;L 
a. 1970 b. 1973  c. 1975  d. 1976 e. tpil njhpatpy;iy 
 

102. Choose the incorrect pair 
a. Madras Wildlife Act – 1873  
b. all India Elephant Preservation Act – 1878 
c. Bengal Rhinoceros Preservation Act -1972 
d. All India Wildlife Protection Act – 1972 
e. Answer not known 
jtwhd ,iziaj; Njh;e;njL 
a. nkl;uh]; tdtpyq;F rl;lk; - 1873 
b. mfpy ,e;jpa ahid ghJfhg;G rl;lk; - 1878 
c. tq;fhs fhz;lhkpUf rl;lk; - 1972 
d. mfpy ,e;jpa tdtpyq;F ghJfhg;G rl;lk; - 1972 
e. tpil njhpatpy;iy 
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103. India’s share in world’s land area is 
a. 2.2% b. 2.4%  c. 3.1% d. 2.8% e. Answer not known 
cyf epyg;gug;gpy; ,e;jpahtpd; gq;F 
a. 2.2% b. 2.4%  c. 3.1% d. 2.8% e. tpil njhpatpy;iy 
 

104. Match the following 
A. Jim Corbett National Park  1. Uttar Pradesh 
B. Dudhwa National Park   2. Uttarakhand 
C. Gir National Park   3. Madhya Pradesh 
D. Kanha National Park   4. Gujarat 
E. Sundarbans National Park  5. West Bengal 
 A B C D E 
a. 1 2 4 3 5 
b. 1 2 3 4 5 
c. 2 1 4 3 5 
d. 2 1 3 4 5 
e. Answer not known 
nghUj;Jf 
A. [pk;fhh;ngl; Njrpa g+q;fh  1. cj;jugpuNjrk; 
B. Jj;th Njrpa g+q;fh   2. cj;jufz;l; 
C. fph; Njrpa g+q;fh    3. kj;jpa gpuNjrk; 
D. fd;`h Njrpa g+q;fh   4. F[uhj; 
E. Re;jh;gd;]; Njrpa g+q;fh  5. Nkw;F tq;fk; 
 A B C D E 
a. 1 2 4 3 5 
b. 1 2 3 4 5 
c. 2 1 4 3 5 
d. 2 1 3 4 5 
e. tpil njhpatpy;iy 
 

105. Who among the following founded the Blue cross of India, the largest animal welfare 
organisation of Asia in Chennai? 
a. M.S. Swaminathan b. Nammalvar   c. V. Sundaram   
d. Krishnamoorthy  e. Answer not known 
nrd;idapy; Mrpahtpd; kpfg;nghpa tpyq;F ey mikg;ghd G@fpuh]; M/g; ,e;jpahit 
epWtpath; ahh;? 
a. M.S. Rthkpehjd;  b. ek;kho;thh;    c. V. Re;juk;   
d. fpU~;z%h;j;jp  e. tpil njhpatpy;iy 
 

106. How many pairs are correctly matched? 
1. Nanda Devi - Uttar Pradesh 
2. Nokrek  - Manipur 
3. Manas  - Assam 
4. Similipal  - Odisha 
a. One pair   b. Two pairs    c. Three pairs 
d. Four pairs   e. Answer not known 
fPo;f;fz;ltw;Ws; vj;jid ,izfs; rhpahf nghUj;jg;gl;Ls;sd? 
1. ee;jhNjtp  - cj;jugpuNjrk; 
2. Nehf;nuf;  - kzpg;g+h; 
3. kdh];   - m];]hk; 
4. rpkpypghy;  - xb~h 



 

27 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

a. Xh; ,iz   b. ,U ,izfs;   c. %d;W ,izfs; 
d. ehd;f ,izfs;  e. tpil njhpatpy;iy 

 
107. Match the following 

A. Nitrogen fixation    1. Azotobacter 
B. Ammonification    2. Putrefying bacteria 
C. Nitrification    3. Nitrosomonas 
D. Denitrification    4. Pseudomonas bacteria 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. Answer not known 
nghUj;Jf 
A. iel;u[d; epiyepWj;Jjy;  1. mrl;NlhNgf;lh; 
B. mk;Nkhdpahthjy;   2. mOfitf;Fk; ghf;Bhpah 
C. iel;Nul;lhjy;    3. iel;uNrhNkhdh]; 
D. iel;u[d; ntspNaw;wk;   4. #NlhNkhdh]; ghf;Bhpah 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 1 2 4 3 
d. 2 1 4 3 
e. tpil njhpatpy;iy 
 

108. Consider the following 
Assertion (A): Earthworms are referred as ‘Farmer’s Friend’ 
Reason (R): After digesting organic matter earthworms excrete a nutrient rich waste 
product called castings which is used as vermicompost 
a. Both (A) and (R) are correct and (R) is the correct explanation to (A)  
b. Both (A) and (R) are correct and (R) is not the correct explanation to (A) 
c. (A) is True (R) is false  
d. (A) is False (R) is true  
e. Answer not known 
gpd;tUtdtw;iw Muha;f 
$w;W (A): kz;GOf;fs; cotdpd; ez;gd; vd miof;fg;gLfpd;wd. 
fhuzk; (R): fhpkg;nghUl;fis nrhpkhdk; nra;jgpd; kz;GOf;fs; iel;u[d; rj;J 
epiwe;j GOtpyf;fpa kz; vdg;gLk; fopit ntspNaw;Wfpd;wd. 
a. (A) kw;Wk; (R) rhp NkYk; (R), (A)f;F rhpahd tpsf;fk;  
b. (A) kw;Wk; (R) rhp Mdhy; (R), (A) f;F rhpahd tpsf;fk; my;y  
c. (A) rhp Mdhy; (R) jtW  
d. (A) jtW Mdhy; (R) rhp  
e. tpil njhpatpy;iy 

 

109. Choose the incorrect one  
a. India accounts for 10-11% of all recorded species 
b. India became state member of IUCN in 1969 
c. IUCN was founded on 5th October 1948 
d. Red data book was first published in 1964 
e. Answer not known 



 

28 | Page PH: 044 - 24339436, 42867555, 9840226187 

 

jtwhd xd4;iwj; Njh;e;njL 
a. ,e;jpahtpy; 10-11% gjpag;gl;l rpw;wpdq;fs; cs;sd 
b. ,e;jpah 1969,y; IUCNd; cWg;gpdh; ehlhdJ 
c. IUCN mikg;G 1948 mf;Nlhgh; 5 md;W epWtg;gl;lJ 
d. rptg;G juT Gj;jfk; Kjypy; 1964,y; ntspaplg;gl;lJ 
e. tpil njhpatpy;iy 

 
110. Match the following 

A. Xylem tissue   1. Absorption of water and Minerals 
B. Phloem tissue   2. Transport of water and minerals 
C. Epidermis    3. Transport of food 
D. Root hairs    4. Protects the inner tissue 
 A B C D 
a.  1 2 3 4 
b. 2 1 4 3 
c. 2 3 4 1 
d. 1 2 4 3 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf 
A. iryk; jpR   1. ePh; kw;Wk; fdpkq;fis cwpQ;Rfpd;wd 
B. GNshak; jpR   2. ePh; kw;Wk; fdpkq;fis flj;Jjy; 
C. vgpnlh;kp]; (Gwj;Njhy;)  3. czTg; nghUl;fisf; flj;Jjy; 
D. Nth;j;J}tpfs;   4. cl;Gwj; jpRf;fisg; ghJfhf;fpwJ 
 A B C D 
a.  1 2 3 4 
b. 2 1 4 3 
c. 2 3 4 1 
d. 1 2 4 3 
e. tpil njhpatpy;iy 
 

111. Choose the incorrect one 
a. Chloroplast - Green coloured plastids 
b. Chromoplast - yellow, red, orange-coloured plastids 
c. Leucoplast  - colourless plastids 
d. None of these 
e. Answer not known 
jtwhd xd;iwj; Njh;e;njL 
a. FNshNuhgpsh];l; - gr;irepwKila fzpfk; 
b. FNuhNkhgpsh];l; - kQ;rs;> rptg;G> MuQ;R epwKila fzpfk; 
c. ypa+f;Nfhgpsh];l; - epwkw;w fzpfk; 
d. Nkw;$wpa vJTkpy;iy 
e. tpil njhpatpy;iy 

 
112. Match the following  
 List I     List – II  

A. Amitosis    1. Indirect Division  
B. Mitosis    2. Reduction Division  
C. Meiosis    3. Direct Division  
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 A B C  
a. 3 2 1  
b. 1 2 3  
c. 1 3 2  
d. 3 1 2  
e. Answer not known 
nghUj;Jf:  
 gFjp I   gFjp II  
A. Vikl;lhrp];   1. kiwKf gFg;G  
B. ikl;lhrp];  2. Fd;wy; gFg;G  
C. kpahrp];   3. Neubg; gFg;G  
 A B C  
a. 3 2 1  
b. 1 2 3  
c. 1 3 2  
d. 3 1 2 
e. tpil njhpatpy;iy  

 
113. Mitosis was first discovered by ________. 

a. Alexander Fleming   b. W. Fleming   c. Robert Hooke   
d. Robert Brown    e. Answer not known 
Kjd; Kjypy; ikl;lhrp]; ________ vd;gtuhy; fz;Lgpbf;fg;gl;lJ. 
a. myf;];rhz;lh; /gpsk;kpq; b. W. /gpsk;kpq;  c. uhgh;l; `Pf;    
d. uhgh;l; gpnusd;     e. tpil njhpatpy;iy 

 
114. Match the following: 
 List I      List II  

A. Interphase    1. Division of nucleus  
B. Karyokinesis   2. Nucleolus disappear  
C. Prophase     3. Resting phase 
D. Cytokinesis    4. Division of Cytoplasm  
 A B C D 
a. 2 1 4 3 
b.  4 1 2 3  
c. 4 2 1 3  
d. 3 1 2 4 
e. Answer not known 
nghUj;Jf:  
 gFjp I   gFjp II 
A. ,ilepiy   1. cl;fU gFg;G  
B. NfhpNahifdrp];   2. cl;fUkzp kiwfpwJ  

C. GNuh epiy   3. xa;T epiy  
D. irl;Nlhifdrp];  4. irl;Nlhgpshr gFg;G  
 A B C D 
a. 2 1 4 3 
b.  4 1 2 3  
c. 4 2 1 3  
d. 3 1 2 4 
e. tpil njhpatpy;iy 
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115. Genetic recombination (crossing over) takes place in ______ stage of meiosis.  
a. Leptotene    b. Zygotene     c. Pachytene    
d. Diplotene    e. Answer not known 
kpahrp]; gFg;gpd; ________ epiyapy; kugpay; kWr;Nrh;f;if (FWf;nfjph; khw;wk; 
eilngWfpwJ. 
a. nyg;NlhBd;   b. irf;NfhBd;   c. Ngf;fpBd;   
d. bg;NshBd;   e. tpil njhpatpy;iy 

 
116. Choose the incorrect one 

a. Project elephant – 1992  b. Project crocodile – 1975 
c. Project Sea turtle – 1999  d. Indian Rhino vision – 2025 
e. Answer not known 
jtwhd xd;iwj; Njh;e;njL 
a. ahidfs; ghJfhg;G jpl;lk; - 1992 
b. Kjiyfs; ghJfhg;G jpl;lk; - 1975 
c. fly; Mikfs; ghJfhg;G jpl;lk; - 1999 
d. ,e;jpa fhz;lhkpUfq;fs; ghJfhg;G jpl;lk; - 2025 
e. tpil njhpatpy;iy 

 
117. Who was the first woman wild life photographer of India? 

a. Radhika Ramasamy  b. Narthaki Natarajan 
c. Sowmya Swaminathan  d. Vinisha Umashankar 
e. Answer not known 
,e;jpahtpd; Kjy; ngz; td caphp Gifg;glf; fiyQh; ahh;? 
a. uhjpfh uhkrhkp   b. eh;j;jfp eluh[d; 
c. nrskpah Rthkpehjd;  d. tpdp~h ckhrq;fh; 
e. tpil njhpatpy;iy 
 

118. India is the __________ largest consumer of crude oil in the world 
a. second   b. third   c. fourth   
d. fifth    e. Answer not known 
,e;jpah cyf mstpy; fr;rh vz;nza; gad;gLj;Jk; ehLfspy; ______ nghpa ehL 
a. ,uz;lhtJ  b. %d;whtJ   c. ehd;fhtJ  
d. Ie;jhtJ   e. tpil njhpatpy;iy 
 

119. The term Biodiversity was introduced by 
a. Norman Myer  b. Melvin Calvin   c. James Dasmand  
d. Walter Rosen  e. Answer not known 
caphpa gy;tifj;jd;ik vd;w nrhy;iy mwpKfg;gLj;jpath;  
a. ehh;kd; kah;  b. nky;tpd; Nfy;tpd;  c. N[k;]; lh];khz;l;  
d. thy;lh; Nuhrd;  e. tpil njhpatpy;iy 
 

120. In troposphere the temperature decreases at ______ per km above mean sea level 
a. 4.5°C  b. 5.5°C   c. 6.5°C   
d. 7.5°C  e. Answer not known 
l;NuhNgh];gpah; mLf;fpy; ruhrhpahf fly; kl;lj;jpw;FNky; xt;nthU fp.kPf;Fk; ________ 
tPjk; ntg;gk; FiwfpwJ. 
a. 4.5°C  b. 5.5°C   c. 6.5°C   
d. 7.5°C  e. tpil njhpatpy;iy 
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121. Which is the India’s first National Park? 
a. Sundarbans b. Indira Gandhi National Park   c. Bandipur   
d. Jim Corbett  e. Answer not known 
,e;jpahtpd; Kjy; Njrpag; g+q;fh vJ?  
a. Re;jh;gd;];  b. ,e;jpuhfhe;jp Njrpag;g+q;fh   c. ge;jpg;g+h;   
d. [pk;fhh;gl;  e. tpil njhpatpy;iy 
 

122. Arrange the order of Initiation and conduction of heart beat 

a. AV node → SA node → bundle of His → purkinje fibers 

b. AV node → SA node → purkinje fibers → bundle of His 

c. SA node → AV node → purkinje fibers → bundle of His 

d. SA node → AV node → bundle of His → purkinje fibers 
e. Answer not known 
,jaj;Jbg;G Njhw;wk; kw;Wk; guTjiy thpirg;gLj;jTk; 
a. AV fZ → SA fZ → `p];]pd; fw;iw → Gh;fpd;[p fw;iw 

b. AV fZ → SA fZ → Gh;fpd;[p fw;iw → `p];]pd; fw;iw 

c. SA fZ → AV fZ → Gh;fpd;[p fw;iw → `p];]pd; fw;iw 

d. SA fZ → AV fZ → `p];]pd; fw;iw → Gh;fpd;[p fw;iw 
e. tpil njhpatpy;iy 

 
123. Match the following 

Menstrual cycle phase  Days 
A. Menstrual phase   1. 14th day 
B. Follicular phase   2. 15th – 28th day 
C. Ovulatory phase   3. 6th – 13th days 
D. Luteal phase   4. 1 – 5 days 
 A B C D  
a. 3 4 1 2 
b. 4 3 1 2 
c. 2 3 1 4 
d. 3 2 1 4 
e. Answer not known 
nghUj;Jf 
khjtplha; Row;rp epiy  ehl;fs; 
A. khjtplha; epiy   1. 14k; ehs; 
B. ghypf;Fyhh; epiy  2. 15 – 28 ehl;fs; 
C. mz;lk; tpLgLk; epiy  3. 6 – 13 ehl;fs; 
D. Y}l;bay; epiy   4. 1 – 5 ehl;fs; 
 A B C D  
a. 3 4 1 2 
b. 4 3 1 2 
c. 2 3 1 4 
d. 3 2 1 4 
e. tpil njhpatpy;iy 
 

124. Which of the following is called RNA virus? 
a. Mumps virus  b. Rubella virus   c. Polio virus   
d. All of these  e. Answer not known 
gpd;tUtdtw;Ws; vit RNA itu]; MFk;? 
a. kk;g;]; itu];  b. Ungy;yh itu];   c. NghypNah itu];  
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
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125. The first transgenic cow produced human alpha lactalbumin protein enriched milk 
which name is ____________ 
a. Dolly   b. Rosie    c. Ella   
d. Bully   e. Answer not known 
kdpj Nyf;lhy;Gkpd; nfhz;l Gujr;nrwpT kpf;f ghiy cw;gj;jp nra;Ak; Kjy; kugpay;G 
khw;wg;gl;l gRtpd; ngah; _________ MFk; 
a. lhyp   b. Nuh]p    c. vyh   
c. Gy;yp   e. tpil njhpatpy;iy 
 

126. The development and maturation of platelets are called ________ 
a. Thrombopoiesis  b. Erythropoiesis   c. Leukopoiesis  
d. Lymphopoiesis  e. Answer not known 
,uj;jj; jl;Lfspd; tsh;r;rp kw;Wk; Kjph;r;rpailT _________ vd;W miof;fg;gLfpwJ 
a. jpuhk;NghNghgha;rp]; b. vhpj;NuhNgha;]p];   c. ypa+f;NfhNgha;]p]; 
d. ypk;NghNgha;]p];  e. tpil njhpatpy;iy 
 

127. Match the following 
Micro organism  Organic acid 
A. Lactic acid   1. Clostridium acetobutylicum 
B. Citric acid   2. Mucor species 
C. Gluconic acid  3. Chrysogenum 
D. Butyric acid  4. Rhizopus species 
 A B C D 
a. 4 2 3 1 
b. 2 3 4 1 
c. 1 2 3 4 
d. 3 1 2 4 
e. Answer not known 
nghUj;Jf 
Ez;Zaphpfs;   fhpk mkpyk; 
A. yhf;bf; mkpyk;  1. fpsh];l;hpbak; mrpl;Nlhgpa+l;bypfk; 
B. rpl;hpf; mkpyk;  2. kpa+f;fh; rpw;wpdk; 
C. FSf;Nfhdpf; mkpyk; 3. fpiuNrh[Pdk; 
D. gpa+l;hpf; mkpyk;  4. iuNrhg]; rpw;wpdk; 
 A B C D 
a. 4 2 3 1 
b. 2 3 4 1 
c. 1 2 3 4 
d. 3 1 2 4 
e. tpil njhpatpy;iy 
 

128. Match the following 
Immunological tests   Diseases 
A. Tourniquet test   1. Syphilis 
B. Wassermann test   2. Rheumatoid fever 
C. Rose-Waaler Test   3 Dengue fever 
D. Wayson stain test  4. Typhoid 
E. Widal Test    5. Plague 
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 A B C D E 
a. 1 3 2 5 4 
b. 5 2 3 1 4 
c. 3 1 2 5 4 
d. 3 1 5 2 4 
e. Answer not known 
nghUj;Jf 
Neha; fz;lwpAk; Nrhjidfs; Neha;fs; 
A. Nlhh;dpfpa+l; Nrhjid  1. rpgpyp]; 
B. thrh;Nkd; Nrhjid  2. &kl;lha;L fha;r;ry; 
C. Nuh];-thyh; Nrhjid  3. nlq;F fha;r;ry; 
D. Ntrd; ];nla;d; Nrhjid 4. il/gha;L 
E. itlhy; Nrhjid  5. gpNsf; 
 A B C D E 
a. 1 3 2 5 4 
b. 5 2 3 1 4 
c. 3 1 2 5 4 
d. 3 1 5 2 4 
e. tpil njhpatpy;iy 
 

129. Find the correct statements about virus  
1. virus shows both living and non living characters.  
2. They reproduce inside the host cells  
3. They can be crystallized and stored for a very long time.  
4. The metabolic machinery, cytoplasm is absent.  
a. 1, 2, 3, 4 correct    b. 1, 2, correct 3, 4 incorrect  
c. 1, 2, 3 correct 4 incorrect   d. 1, 2, 4 correct 3 incorrect  
e. Answer not known 
itu]; gw;wpa rhpahd thf;fpaq;fis fz;Lgpb.  
1. itu];fs; capUs;s kw;Wk; capuw;w vd;w ,uz;L gz;GfisAk; ngw;Ws;sd.  
2. itu];fs; xk;Gaphpapd; nry;fspDs;Ns ,dg;ngUf;fkilfpwJ. 
3. ,itfis gbftbtpy; kpf ePz;l fhyj;jpw;F itj;jpUf;f KbAk;.  
4. tsh;rpijkhw;w epfo;Tfs;> irl;Nlhgpshrk; fhzg;gLtjpy;iy  
a. 1, 2, 3,4  rhp    b. 1, 2 rhp 3, 4 rhpay;y  
c. 1, 2, 3, rhp 4 rhpay;y  d. 1, 2, 4 rhp 3 rhpay;y  
e. tpil njhpatpy;iy 
 

130. Match the following:  
 List – I     List II 
A. Monotrichous     1. Corynebacterium diphtheria  
B. Lophotrichous     2. Vibrio cholera  
C. Amphitrichous     3. Pseudomonas  
D. Peritrichous     4. E. Coli  
E. Atrichous      5. Rhodospirillum rubrum  
 A B C D E 
a. 2 3 4 5 1 
b. 3 2 4 5 1  
c. 2 3 5 4 1  
d. 3 2 5 4 1  
e. Answer not known 
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nghUj;Jf:  
 gFjp  - I     gFjp – II 
A. xw;iwf; firapio    1. Nfhhpdp ghf;Bhpak; bg;jPhpa  
B. xU Kid fw;iw firapio   2. tpg;hpNah fhyuh  
C. ,U Kid fw;iw firapio  3. #NlhNkhdh];  
D. Rw;Wf; firapio   4. v. Nfhiy  
E. firapioaw;wit    5. NuhNlh]; ighpy;yk; &guk;  
 A B C D E 
a. 2 3 4 5 1 
b. 3 2 4 5 1  
c. 2 3 5 4 1  
d. 3 2 5 4 1  
e. tpil njhpatpy;iy 

 
131. Which of the following are Eukaryote? 

a. Chlamydomonas   b. Sargassum    c. Yeast     
d. All of these  e. Answer not known 
gpd;tUtdtw;Ws; vit A+NfhpNahl; MFk;?  
a. fpshkpNlhNkhdh];  b. rh;fhrk;     c. <];l;    
d. ,it midj;Jk;  e. tpil njhpatpy;iy 
 

132. Match the following:  
Medicinal plants    Disease cured  
A. Cinchona     1. Leukemia  
B. Sarpagandha   2. Malaria  
C. Eucalyptus   3. Blood pressure  
D. Papaya    4. Headache  
E. Nithya Kalyani   5. Dengue  
 A B C D E 
a. 2 4 3 5 1     
b. 2 3 4 5 1 
c. 2 3 4 1 5   
d. 2 3 1 4 5  
e. Answer not known 
nghUj;Jf:  
kUj;Jt jhtuq;fs;   Fzg;gLj;Jk; Neha;fs;  
A. rpd;Nfhdh kuk;   1. YAf;Nfkpah  
B. rh;g;gfe;jh    2. kNyhpah  
C. ijy kuk;    3. ,uj;j mOj;jk;  
D. gg;ghsp     4. jiytyp  
E. epj;jpa fy;ahzp   5. nlq;F  
 A B C D E 
a. 2 4 3 5 1     
b. 2 3 4 5 1 
c. 2 3 4 1 5   
d. 2 3 1 4 5  
e. tpil njhpatpy;iy 
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133. Arrange the order  
a. Atoms → molecules → organelles → cells → tissues → organs  
b. Molecules → Atoms → organelles → cells → tissues → organs  
c. Molecules → Atoms → cells → organelles → tissues → organs 
d. Molecules → Atoms → cells →  organelles →  organs →  tissues  
e. Answer not known 
thpirg;gLj;jTk;  
a. mZf;fs; → %yf;$Wfs; → Ez; cWg;Gfs; → nry;fs; → jpRf;fs; → cWg;Gfs;  
b. %yf;$Wfs; → mZf;fs; → Ez;cWg;Gfs; → nry;fs; → jpRf;fs; →  cWg;Gfs;  
c. %yf;$Wfs; → mZf;fs; →  nry;fs; → Ez;cWg;Gfs; → jpRf;fs; → cWg;Gfs;  
d. %yf;$Wfs; → mZf;fs; → nry;fs; → Ez;cWg;Gfs; → cWg;Gfs;  

→ jpRf;fs;  
e. tpil njhpatpy;iy 
 

134. Match the following:  
 Tissue    Function  
A. Parenchyma    1. Food storage  
B. Chlorenchyma   2. Photosynthesis  
C. Collenchyma    3. Protection  
D. Sclerenchyma   4. support  
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4  
c. 2 1 4 3  
d. 1 2 4 3  
e. Answer not known 
nghUj;Jf:  
 jpR     gzp 
A. ghud;ifkh   1. czT Nrkpj;jy;  
B. FNshud;ifkh   2. xspr;Nrh;f;if  
C. Nfhyd;ifkh   3. ghJfhg;G  
D. ];fpspud;ifkh   4. cWjpj;jd;ik  
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4  
c. 2 1 4 3  
d. 1 2 4 3  
e. tpil njhpatpy;iy 
 

135. Physiological effects of cytokinins in plant body are __________ 
a. Induces cell division  b. Plant Morphogenesis 
c. Growth of lateral buds  d. All of these 
e. Answer not known 
jhtu clyfq;fspy; [pg;uy;ypd;fspd; clw;nray; tpisTfs; ________. 
a. nry;gFg;ig J}z;Lfpd;wd b. jhtu cUtj;Njhw;wtpay;  
c. gf;fthl;L nkhl;bd; tsh;r;rp  d. ,it midj;Jk;  
e. tpil njhpatpy;iy 

 
136. Which ratio is constant for DNA? 

a. A+G/T+C  b. A+T/G+C   c. A+C/U+G   
d. A+U/C+G  e. Answer not known 
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,tw;wpy; vJ b.vd;.V tpy; cs;s epiyahd tpfpjk; 
a. A+G/T+C   b. A+T/G+C   c. A+C/U+G   
d. A+U/C+G   e. tpil njhpatpy;iy 
 

137. In sperm acrosome produces hyaluronidase enzyme. The acrosome is modification of  
a. Lysosome   b. Ribosome   c. Golgi apparatus  

d. Mitochondria  e. Answer not known 
tpe;J nry;ypy; `aYNuhepNl]; vDk; nehjpia Ruf;Fk; mf;NuhNrhk; vjDila khWghL 
a. iyNrhNrhk;  b. iuNghNrhk;   c. Nfhy;if cWg;G    

d. ikl;NlhNfhd;l;hpah e. tpil njhpatpy;iy 
 

138. Which of the following facts are correct about prokaryotic cells 
I. Prominent nucleus is absent 
II. Nucleolus is present 
III. Mitosis and meiosis cell divisions are takes place 
IV. Enveloped cell organelles are absent 
a. I and II are correct b. I and IV are correct  c. II and III are correct  
d. III and IV are correct e. Answer not known 
gpd;tUk; GNuhNfhpNahl;L nry;fs; gw;wpa $w;Wfspy; rhpahdit vit? 
I. njspthd cl;fU fpilahJ 
II. epa+f;spNahy]; fhzg;gLfpwJ 
III. ikl;lhrp]; kw;Wk; kpahrp]; nry;gphpjy; eilngWfpwJ  
IV. rt;tpdhy; #og;gl;l nry; Ez;ZWg;Gfs; fpilahJ 
a. I kw;Wk; II rhp  b. I kw;Wk; IV rhp   c. II kw;Wk; III rhp   
d. III kw;Wk; IV rhp  e. tpil njhpatpy;iy 
 

139. All of the following are bacteria except 
a. Bacteriophage   b. E.Coli 
c. Lactobacillus subtilis  d. Corynebacterium diphtheria 
e. Answer not known 
,tw;Ws; xd;iwj; jtpu kw;wit vy;yhk; ghf;Bhpahf;fs; 
a. ghf;BhpahNg[;     b. v.Nfhiy   
c. yhf;NlhNg]py]; rg;byp];  d. fhh;zpg;ghf;Bhpak; bg;jphpah 
e. tpil njhpatpy;iy 
 

140. Write the essential component mineral for the formation of chlorophyll. 
a. ‘a’ chlorophyll  b. ‘b’ carotein    c. Magnesium  
d. Xanthophyll  e. Answer not known 
gr;ira epwkpfs; cw;gj;jpf;F Njitahd jdpkk; vJ? 
a. ‘a’ gr;irak;  b. ‘b’ fNuhl;bdha;Lfs;  c. nkf;dPrpak;  
d. rhe;Njh/gpy;  e. tpil njhpatpy;iy 
 

141. Find the incorrect statement:  
i. Carbon Sequestration: The simple technique is to preserve trees and plants more  
ii. Trees take up CO2  
iii. They break down CO2 in photosynthesis 
iv. They do not store carbon in new wood 
a. i only   b. iv only     c. iii only    

d. ii only   e. Answer not known 
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jtwhd thf;fpaj;ij Njh;e;njL 
i. fhh;gd; jdpikgLj;Jjy;: ,jw;fhd vspa Kiw kuq;fis guhkhpj;jYk;> Gjpjhf 
jhtuq;fis tsh;g;gJk; jhd; 
ii. kuq;fs; CO2 I vLj;Jf; nfhs;fpd;wd 
iii. xspr;Nrh;f;ifapd; %yk; CO2 I cilf;fpd;wd 
iv. mtw;iw GJkug;gFjpfspy; Nrkpg;gjpy;iy  
a. i kl;Lk;     b. iv kl;Lk;     c. iii kl;Lk;     
d. ii kl;Lk;   e. tpil njhpatpy;iy 
 

142. Blood is formed in the human adult by the  
a. Heart   b. Spleen    c. Red bone marrow 
d. Yellow bone marrow e. Answer not known 
tsh;r;rpaile;j kdpjdpd; ,uj;jj;ij cUthf;FtJ 
a. ,jak;     b. kz;zPuy;     c. rpfg;G vYk;G kQ;ir  
d. kQ;rs; vYk;G kQ;ir  e. tpil njhpatpy;iy 
 

143. Match the following: 
a. Corpus luteum   1. Testosterone 
b. Graafian follicle   2. Inhibidin 
c. Sertoli cells    3. Theca interna 
d. Leydig’s cells   4. Corpus albicans 
 A B C D 
a.  2 1 3 4 
b.  4 3 2 1 
c.  1 2 3 4 
d.  3 4 1 2 
e. Answer not known 
nghUj;Jf.  
a. fhh;g]; Yl;bak;     1. nl];Nlh];BNuhd; 
b. fpuh/gpad; /ghypf;fps;     2. ,d;`pgpbd; 
c. nrh;l;Nlhyp nry;fs;    3. jPf;fh ,d;lh;dh 
d. yPbf; nry;fs;     4. fhh;g]; my;gpfd;];  
 A B C D 
a.  2 1 3 4 
b.  4 3 2 1 
c.  1 2 3 4 
d.  3 4 1 2 
e. tpil njhpatpy;iy 
 

144. What is the life of Red blood corpuscles?   
a. 120days   b. 220 days     c. 400 days   
d. 320 days   e. Answer not known 
,uj;jr; rptg;G mZf;fspd; tho;ehl;fs; vt;tsT? 
a. 120 ehl;fs;  b. 220 ehl;fs;    c. 400 ehl;fs;   
d. 320 ehl;fs;   e. tpil njhpatpy;iy 
 

145. Holandric genes are called 
a. Carried by X chromosomes   
b. Carried by autosomes 
c. Carried by different parts of Y Chromosomes 
d. Carried by X and Y Chromosomes 
e. Answer not known 
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N`hyhz;l;hpf; [Pd;fs; vd;gJ ____ MFk;. 
a. X FNuhNkhNrhk;fshy; nray;gLj;jg;gLfpwJ. 
b. Ml;NlhNrhk;fshy; nray;gLj;jg;gLfpwJ 
c. gy;NtW gFjpfspy; cs;s Y FNuhNkhNrhk;fshy; nray;gLj;jg;gLfpwJ 
d. X kw;Wk; Y FNuhNkhNrhk;fshy; nray;gLj;jg;gLfpwJ 
e. tpil njhpatpy;iy 

 
146. Match the following minerals with its deficiency symptoms? 

A. Exanthema in citrus   1. Zinc 
B. Hooked leaf tip    2. Copper 
C. Little leaf     3. Potassium 
D. Curled leaf margin   4. Calcium 

A B C D 
a. 2 4 1 3 
b. 2 3 4 1 
c. 3 2 1 4 
d. 1 2 3 4 
e. Answer not known 
nfhLf;fg;gl;Ls;s jdpkq;fspd; gw;whf;Fiw Neha; mwpFwpfSld;  
nghUj;Jf:  
A. rpl;u]; jhtuj;jpy; vf;rhe;jPkh   1. Jj;jehfk;  
B. nfhf;fp Nghd;w ,iy Edp  2. jhkpuk;  
C. rpw;wpiy Neha;     3. nghl;lhrpak;  
D. ,iy tpspk;G RUs;jy;   4. fhy;rpak;  

A B C D 
a. 2 4 1 3 
b. 2 3 4 1 
c. 3 2 1 4 
d. 1 2 3 4 
e. tpil njhpatpy;iy 

 
147. Match the following: 

a. Zoophily   1. Vallisneria 
b. Hydrophily  2. Grass 
c. Entomophily  3. Canna 
d. Anemophily  4. Salvia 

  A B C D 
 a. 4 3 2 1  
 b. 3 2 1 4  
 c. 1 2 3 4  
 d. 3 1 4 2  

e. Answer not known 
fPo;fz;ltw;iw nghUj;Jf: 
a. #/gpyp   1. thyp];Nehpah 
b. i`l;Nuh/gpyp  2. Gy; 
c. vz;lNkh/gpyp  3. fy;thio 
d. mdpNkh/gpyp  4. rhy;tpah 
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 A B C D 
 a. 4 3 2 1  
 b. 3 2 1 4  
 c. 1 2 3 4  
 d. 3 1 4 2  

e.  tpil njhpatpy;iy 
 
148. World’s First Malaria Vaccine 

a. Mosquirix    b. Bedaquiline  c. Clofazimine   
d. Cycloserine   e. Answer not known 
cyfpd; Kjy; kNyhpahj; jLg;G+rp  
a. k];Fhpf;];    b. nglhFiyd;  c. FNshghf;rpikd;   
d. irf;Nshnrhpd;    e. tpil njhpatpy;iy 

 
149. Which law is used to understand the structure and functions of heart and blood vessels? 

a. Chargaffs law    b. Dopler’s law  c. Hardy Weinberg law  
d. Laplace law   e. Answer not known 
,jak; kw;Wk; ,uj;j ehsq;fs; Mfpatw;wpd; mikg;G kw;Wk; gzpfisg; Ghpe;J nfhs;s 
cjTk; tpjp 
a. rhh;f;fhg; tpjp   b. lhg;sh; tpjp  c. `hh;b tPd; ngh;f; tpjp  
d. yhg;Ns]; tpjp   e.  tpil njhpatpy;iy 
 

150. Which among the following is regarded as the leading cause of air pollution? 
a. Agriculture     b. Warfare   
c. Mining and Construction  d. Motor Vehicle Emissions   
e. Answer not known 
fPo;f;fz;ltw;Ws; fhw;wpd; khRghl;Lf;F nghpJk; fhuzkhf ,Ug;gjhf fUjg;gLtJ vJ?  
a. Ntshz;ik    b. Nghh; gapw;rp  
c. fdpk Ruq;fq;fs; kw;Wk; fl;Lkhdk;  d. thfd Gif ntspaPL   
e. tpil njhpatpy;iy 
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